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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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( English Version )

Group - A

Answer any two questions : 10 x2 =20

Explain the chemical structure of water
molecule. Write a brief account of the physico-

chemical properties of water. Define osmosis.
4+4+2

Discuss the mechanism of stomatal transpiration
with proper diagrammatic representation. What
is meant by antitranspirant ? Name one natural

and one chemical anti-transpirant. 6+2+2

Schematically represent Calvin cycle indicating
all biochemical reactions with enzymes. Write
two important differences between cyclic and
non-cyclic photophosphorylation. Mention the

role of water in light reaction of photosynthesis.
6+2+2
What are ‘nod’ and ‘nif’ genes ? Discuss the

legume root-nodule organogenesis in Rhizobium

with suitable illustrations. 2+2+6
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10.

Group - B

Answer any three questions : 6x3=18

What is guttation ? Explain the cohesion-tension

theory of ascent of sap. 2+4

Define source and sink. Write the significance of

P-protein. 2+2+2

Discuss the role of gibberellic acid on seed
germination. Write two important physiological

functions of ethylene. 4+2

Mention  the characteristic  features of
carotenoids. Briefly write on the significance of

anthocyanins in plants. 4+2

What is Photoperiodism ? State the role of

photoperiodism in flowering. 2+4

Define biological nitrogen fixation. Write a brief
note on the biochemical reaction catalyzed by

nitrogenase enzyme. 2+4
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Group - C

Answer any four questions : 3x4=12

Write the names of two elements which are
actively involved in electron transport in plant
cell. Name the element which is important for

chlorophyll structure. 2+1

Mention the name of a plant hormone which is
related to the retardation of senescence in

plants. How does it retard senescence ? 1+2

What is red drop ? Briefly explain its reason.1 + 2

Name the 002 acceptor in C 4 plants. Write the

name of the product and the enzyme involved

during this process. 1+2
State the site of occurrence of
photophosphorylation and oxidative

phosphorylation in plant cell. How many ATP
molecules are produced in light reaction of

photosynthesis ? 2+1

[ P.T.O.

QP Code: 18UT125EBT7 4

16.

17.

18.

What is leghemoglobin ? What role does it play in

nitrogen fixation ? 1+2
What is turgor movement ? Where is it found ?
2+1

Define seed dormancy. Write in brief on the

causes of seed dormancy. 1+2
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